
ME 1020 Engineering Programming with MATLAB 

Problem 5.1: 

 

Problem setup: 

Production costs = fixed cost + variable costs = fixed cost + Production cost/gallon 

Revenue = Price/gallon * gallons/year 

% Problem 5.1 

clear 

clc 

disp('Problem 5.1: Scott Thomas') 

 

Q = 10^6:1000:2*10^8; 

Production_cost = 3*10^6 + 0.025*Q; 

Revenue = 0.055*Q; 

 

plot(Q,Production_cost, Q,Revenue),xlabel('Gallons of Product'),... 

    ylabel('Production Cost and Revenue ($)'), grid on,... 

    legend('Production Cost','Revenue','Location', 'SouthEast') 

    title('Breakeven Analysis (Problem 5.1) by Scott Thomas') 
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